RPREN{RRPRINP A

.3, Crled. &

sl

(4 + dx — 5)(6x— 6)— 1 X 2x— 6

6x + (1 —3x)(2x— 5)(x + 3)

(5x — 4)(4x* — 5x— 3) + (4x — 3)(2x + 3)

(6x° = 3)(x—3) —x° +2x +2

(6x — 2)(6x% — 4x + 2) — (4x + 6)(4x — 5)

EEN NG BL

o +x—5)x+3)+5%x2x+3

3x+ (6+2x)(3x— 3)(6x+ 5)

(5x+ 4)(6x + 5)(4x— 2)

(6x— 1) — 6x— 1)+ (dx + D)(dx — 1)

(x— )(6x— 1)(4x—35)
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(4% + 4x—5)(6x— 6)— 1 x2x— 6
24x° — 56x + 24

6x + (1 —3x)(2x— 5)(x + 3)
—6x° —x* + 52x— 15

(5x — 4)(4x> — 5x — 3) + (4x — 3)(2x + 3)
20x° — 33x% + 11x + 3

(6x2 — 3)(x—3) — % +2x +2
6> — 19x° —x+ 11

(6x— 2)(6x° — 4x + 2) — (4x + 6)(4x — 5)
36x° — 525 + 16x + 26

EEN NG BL

(7 +x—5)(x+3)+5x2+3
X+ 47+ 8x— 12

3x+ (6 +2x)(3x— 3)(6x + 5)
36x° + 102x” — 45x — 90

(5x+ 4)(6x + 5)(4x — 2)
120x° + 136x” — 18x — 40

(6x — 1)(x> — 6x— 1)+ (4x + 1)(4x— 1)
6x> — 21x°

(x— )(6x— 1)(4x—35)
24x° — 58x* +39x— 5
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